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There are six cars — A BC D E F parked in a
row facing north direction, but not
necessarily in the same order. The distances
between two adjacent cares are successive
multiples of three.

Information regarding all the cars:

*The distance between A and B is 33m and
car A is to the immediate left of car B.

*The distance between the cars E and F is
99m . The distance between E and D is a
multiple of 2.

*The car B is 75Sm away from car C. Car D is

to the left of car C, but not to the immediate
left of C.
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There are six cars — A B C D E F parked in a row facing north direction, but not necessarily
in the same order. The distances between two adjacent cares are(successive multiples of thr@

Information regarding all the cars:

*The distance between A and B is 33m and car A is to the immediate left of car B.

*The distance between the cars E and F is 99m . The distance between E and D is a multiple
of 2.

*The car B is 75Sm away from car C. Car D is to the left of car C, but not to the immediate left
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Eight persons - A, B,C, D, E, F, G and H
were born in different months of January
to August of the same year but not
necessarily in the same order. Not more
than one person is born in a month. G was
born in a month that has 31 days but not
in the month of May. There is a gap of one
month between G and A. A born

somewhere after G. B was born in the

month which has the least number of days.

E was born immediately after C. Number

of persons born before E is one more than
the number of person born after E. F born
before D but after H.
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Eight persons- A, B, C,D, E, F, G and H
were born in different months of January
to August of the same year but not
necessarily in the same order. Not more

than one person is born in a month. G was

born in a month that has 31 days but not

in the month of May. There is a gap of one
month between G and A. A born

somewhere after G. B was born in the

month which has the least number of days.

E was born immediately after C. Number

of persons born before E is one more than
the number of person born after E. F born
before D but after H.
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There are eight people A, B, C, D, E, F, G
and H. They all were born on different years
viz 1947, 1953, 1958, 1967, 1974, 1982, 1994
and 2002 but not necessarily in same order.
But the date and month of birth of all these
persons are same. Calculation is done with
respect to the year 2017 and assuming
months and date to be same. The difference
between the age of A and C is perfect cube.
D’s age is multiple of S but D is not the
oldest person. The difference of age between
D and A is equal to age of D. Age of F is
equal to the difference between the age of D
and G. B is second youngest among all of
them. Difference of age between B and H is

perfect square.
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There are eight people A, B, C, D, E, F, G
and H. They all were born on different years
viz 1947, 1953, 1958, 1967, 1974, 1982, 1994
and 2002 but not necessarily in same order.
But the date and month of birth of all these
persons are same. Calculation is done with
respect to the yeand assuming
months and date to be same. The difference
between the age of A and C is perfect cube.
D’s age is multiple of 5 but D is not the
oldest person. The difference of age between
D and A is equal to age of D. Age of F is
equal to the difference between the age of D
and G. B is second youngest among all of
them. Difference of age between B and H is

perfect square.
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Eight people— A, B, C,D, E, F, G and H

are born in different years — 1942, 1948,
1963, 1969, 1972, 1978, 1991, and 2003.
There ages are with respect to the current
year (2017), same month and same date.
E was born before 1963. Difference
between the ages of E and H is 21 years.
A’s is older than H but not the oldest. B’s
birth year is an odd-numbered year.
Neither B nor C is 14 years old.
Difference between the ages of B and F is
less than S years. The sum of ages of C

and D is 53 years.

AN - A, B,C,D,E, F, G AR H
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Eight people— A, B,C,D,E, F, G and H
are born in different years — 1942, 1948,
1963, 1969, 1972, 1978, 1991, and 2003.
There ages are with respect to the current
year @same month and same date.

_E was born before 1963. Ditference
—

between the ages of E and H is 21 years.
A’s is older than H but not the oldest. B’s

birth year is an_ gdd-numbered year.
Neither B@S@WB@'&L

Difference between the ages of B and F is

less than S years. The sum of ages of C

and D is 53 years.
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Q. Read the following information carefully and answer the questions given below:

Ten members A, B, C,D, E, F, L, M, P and Q have given exam, no two students have got similar marks.

Only three members score more than P. B score more than C. P score more than Q. L. score more than M. C
score more than L. Q score more than B@score more than E and F @ less than D,

TasARET A, B, C, D, E, F, L, M, P 3R Q v 3, Wﬁaﬁmﬁ%quﬁ%

HIA A SAHAT ok 3Tk P | 3ATerek 2l B, C | 3ATerer 3teh 1T 21 P, Q | 37Terek 3ieh AATaT 21 L, M ¥ 377ereh 3ieh
AT 2l C, L ¥ 3tfereh 37k AraT 21 Q, B § 31fereh 3teh oTaT 21 A, E 31 F | 3Aereh 37k 1T & AAfchT D ¥ ¥ 2ih

e D p>ElF F>@>8>C>Ljﬂ

Q @F rank is 10 then which of the following condition must be true?
afe F a1 T 10 § a1 Fre 7 & o6 ot uitfeurfa guiaan o g

(1) Qisrank 5
(2)Pisrank 3 X
3)Eisrank2 X D A E ]O CQ [57
(4) F score highest 7Q e =2 = -
(5) A score highest ><
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Q. Read the following information carefully and answer the questions given below:
Ten members A, B, C,D, E, F, L, M, P and Q have given exam, no two students have got similar marks.

Only three members score more than P. B score more than C. P score more than Q. L score more than M. C

e

score more than L. Q score more than B. A score more than E and F but less than D.

T ARATA, B, C, D, E, F, L, M, P 3R Q ¥ U fo, fereft oft v fererreffat o 3ieh wwm 7=t 21

HIA A SAHAT ok 3Tk P | 3ATerek 2l B, C | 3ATerer 3teh 1T 21 P, Q | 37Terek 3ieh AATaT 21 L, M ¥ 377ereh 3ieh
AT 2l C, L ¥ 3tfereh 37k AraT 21 Q, B § 31fereh 3teh oTaT 21 A, E 31 F | 3Aereh 37k 1T & AAfchT D ¥ ¥ 2ih

e D >A>E[F

Q.@ F rank is 3 and M rank is 9 then what is the position of C?
Ifg F o1 T 3 3R M T T 9 § AT C T TATH 1 012

p>aA >8F>c=>L>M
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Q. Read the following information carefully and answer the questions given below:

Ten members A, B, C,D, E, F, L, M, P and Q have given exam, no two students have got similar marks.
Only three members score more than P. B score more than C. P score more than Q. L score more than M. C
score more than L. Q score more than B. A score more than E and F but less than D.

T ARATA, B, C, D, E, F, L, M, P 3R Q ¥ U fo, fereft oft v fererreffat o 3ieh wwm 7=t 21

HIA A SAHAT ok 3Tk P | 3ATerek 2l B, C | 3ATerer 3teh 1T 21 P, Q | 37Terek 3ieh AATaT 21 L, M ¥ 377ereh 3ieh
AT 81 C, L & AfereR 3k TaT 21 Q, B ¥ 31Tereh 3ieh TaT 2l A, E 3TR F | 3ATereh 37eh oITaT 8 SIfehT D ¥ ¥ 3ich
AT 2

Q. If E rank is 6 then which of the following condition must be true? ;

afq E 3T T 6 3 a1 378 | i €Y aRferfa quiaat ac giit? H/@&%

(1) Lisrank 6 C/WJJ—F

(2) M score lowest

(3) P score highest

(4) P is rank 2 @QD\— q,’ﬂb /3[!/\

(5) A score lowest .
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